The model Millionaire 
The main characters are Hughie, Laura his girlfriend, Laura’s father, the colonel, Alan Trevor who is Hughie’s friend and a beggar called Baron Hausberg.
Hughie was a beautiful young man.  However,  he was poor and unemployed.  He had tried everything but his ideas hadn’t worked.  He was only a young man with a perfect profile and no profession.
Hughie loved Laura Merton.  She was the Colonel’s daughter.  The Colonel said to Hughie that When he had  ten thousand pounds, they could marry.  Because of that situation, Hughie felt very sad.

One morning, Hughie met his friend Alan Trevor, who was a painter. He was finishing the picture of the beggar.  After Hughie saw the beggar, he felt sorry for him.  Due to the dirty and old clothes that the beggar was wearing. Therefore, he gave him all money   he had.

That night in the club, Alan explained to Hughie that the beggar  that he had seen  was actually  one of the richest men in Europe  called Baron Hausberg.  Besides, the Baron had been interested in Hughie’s life.  Hughie felt  an idiot because he had given him a pound.

The next morning, a Baron’s messenger visited Hughie`s house and he gave Hughie the Baron`s letter. It was a wedding  present for  Hughie and Laura, inside there was a cheque for ten thousand pounds.  Thanks to The Baron, Laura and Hughie were married. Alan said Millionaire models were exceptionally unusual, but model millionaries were even more inusual.
Hipótesis 

*Pasado:

If The Colonel hadn’t given any conditions, Hughie and Laura would have married without The Baron’s money.

If Hughie hadn't been poor,  they  would have married quickly.

*Presente
If Hughie gets a good job,He will support his family better.
Opinion

The history shows two model people: The Baron Hausberg  spite was one of the richest men in Europe  also was generous. He was model millionarioe. 
Hughie spite was poor and unemployed he gave the beggar all his money. 
